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By Discovery Education 3-digit Column Subtraction Practise Worksheet
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Write the following subtraction in a column
subtraction format: 523 - 412 = 111
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Use column subtraction to
solve 345 - 122 =

4

What is the difference between
935 and 5677

Use column subtraction to
solve 593 - 341=

Using column subtraction, solve
842 - 463 =
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There are 498 pupils in Lina's school. Sam has a collection of 495 stamps.
114 are in Year 3. How many pupils 149 of them are limited edition. How
are NOT in Year 3? Use column many stamps are NOT limited
subtraction to solve the problem. edition? Use column subtraction to

solve the problem.




